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Correct Marks : 4 Wrong Marks : 1

Let a function, f:R — Rbe defined by

, _ I t. [1,ifx=0
h — "l ¥ ‘ & =4

f(x) x/x and let sgn(x) | 1,ifx <0

Then:

fis not invertible

e = k1

—

f () = sgn@)|]x 1
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HAT e[ f:R — R, f(x)=1+x[x| G

Lafgx=0

aftsnfog & @en 7m sgn(x)= faeaa

g W

)=l -1
_,I"_]l:x:l= sgn(x),/|x —1

qRLS B8 f iR — R 2Uf{x)=1+xx 4ot
e uHd 2Hd & A Rl
. 1L, ®x=0 .

sgn(x) = Ioﬁxd:{]'m

[ Al Mg @ik 2

fHx) =sgn(x 1) f]x -1
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-1 e
40503626703, 1 )= N1

f7H(x) = sgn(x)/|x -1

Let a be a common root of the equations,
x2—x-12=0 and Ax2+10x+3=0
(where A is an integer). If B is the other
root of the second equation, then the

ordered pair (A, ) is equal to:
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

AT THIHI

x2—x—-12=0 w91

A2 +10x +3 =0 (& A UF Ui §) F1 U
TS T o T1 Al SH AHE0 61 g5
el B 7, o iE g9 (A, B) TR T

QIRL 5 o 21 wdlsrel 2—x—12=0 214
Ax2+10x + 3 =0« Uit ol © (sedl A yells
Hquot 65). o ollod wallsei i ollsr iy,

dl 445 sds (A, B)=
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If .z = -1+ r'-J'E, then which one of the

following is not true ?
Re(z!) + Re(z®)= -2
.Im{z';_] + Im{zai =542
Im(z*) - Re(z®) = 442 -5

.1{0{24] = 1111{23_] =2 -7
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Question Number : 3 Question Id : 4050367314 Question Type : MCQ Option Shuffling : Yes Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A z=-1+ 2 A=A IFIAT IS
T E?

Re(z?) + Re(z%)= -2
1111{24] + 1111{23] = 5«4@
Im(z*) — Re(z®) =442 -5

Re(z?) - Im(Z>) =2 - 7

ol z= -1+ iyv2 @, dl el 5 wed
A2 7

Re(z?) + Re(z%)= -2
.1111{24] + 1111{23] = 5«4@

=

4y Ref="}—14

I}
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. : 5 TR 3 — i I
1050362671y K@) —Im(2%) =42 =7

For Be(0, 7/ 2), Be(, 27) and BeR, the value

of the determinant

lcos2a cos(a + 0) —sin(a + 8)
sina sint) cost)

Bcoso cosb sinf

is independent of a.
is independent of 3.

is independent of 8.

depends on all o, § and 6.
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Be(0, 7/2), O, 2) 791 BeR & Tou ARfo=

cos2a  cos(a +0) —sin(a + 0)

sinao sint cost) =T | -
[Bcoso cosf) sint
o =EE T
B == €l
0 H = F |

o, B T 0 T 9T FA T B

{xe(ﬂ , 3 Be(mr, 21) “A BeR U2, s

lcos2a cos(a + 0) —sin(a + 8)

sina sinf) cosl) 4 Buq :
[Bcosa cosh sint

ol 2ada 8.

B el 2ada 8.
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40503626715, 0 Al 2 ©.

a, B2 0 cldler 4z 2ualkd 9.

o

Let A=

1
2 , aeR and B:Ihijlaxa
1

= 2 k2

1
3 J

such that AB=1l, r = in R. If
bay = %r and [adjB| =15, then |adj(AB)

equals :

412

2’!2

48
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, aeRTHB=[byl; .1 5

= 3 2

1
HMA=|1 2
1

g%R € f& AB=1l, r = 0 (reR)1 dfg

by, = %r T |adjB|=1° ¥, T Jadj(AB)
T T
412
212
26
43
o 1 2
arls A=|1 2 3| aeR 24 B=[byls s,
33 1

s

sedl AB=1], 1 = 0 (reR). o by, = %r

2 |adjB| =17 €4, dl |adj(AB)|=
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412
40503626717.

212
26

43

Let a,, 8, a4 a, and a be in A.P. with the
common difference greater than 2. If

25: a; =30 and a; a,ay-ay-a;=>3840, then
=1
;1'35 is equal to :

82

—128

128

—82

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

AT a,, a,, a,, a, 791 a; TH GHFE 941 & &
5

o aEsFm 2 & wfaw ) At Y a; =30
i=1

GE ﬂ-f'az'aa'aq'aE:mﬂ %, ?i:i HIRSW% .
32
—128

128

—82

4Rlb a,, a, a5, a, 2rag 2R A6l (AP) Ul
89, el MM dSled 2 53dl Wizl 8. o

5
Y a; =30 ¥ aayaya a;=3840 ¢, dl
it

32
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128

—82

Let the functions f and g be defined as
f(x)=2cos|x — 2|+ 3|x| sinjx| and g(x) =2 + x.
If S be the set of points where the function
(fog)(x) is not differentiable, thenS is equal
to:

{1}
0}
0.1}

¢ (an empty set)

www.FirstRanker.com

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

A e fad g e ger | aftarfua €
f(x) =2cos|x—2| + 3|x| sinx| TA g(x) =2+ x.
afe =7 fagai, El'ﬁfﬁng}(x} HATFHIE el €,
F OGS E, ASTHE

iy
0)
0,1)

¢ (T T 99=3)

aRls (Sl for g =L

f(x) =2cos|x — 2| + 3|x| sinjx| 24 g(x)=2"+x
Yool Aol sl 2edl 8. sd S 2l
(G 2AlAL 210 €l 5 sl (A8 (fog)(x) EBisa-dl
A4 gl dlS=

{1}
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& (vl as1)
40503626728.

Let f be a twice differentiable function on
R such that f(0)=4 and the function,

1
g(x) = Efz(x} +3x° -5 is monotonically

increasing in R. Then f(1) cannot be :

'2\,@
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HA R T UF e [ 3 91 Saerd ¢, foadH
faw  flo)=4 @ A=  wEA

80) = 3/2(0) + 3 -5, R Fremw A ¥
Al f(1) &l 81 Tl

.2\5

qEls f ool R w g-[Esadl [@hy 8, sal
. 1
F(0)=4 =4 B g(x) = Efz{x} +3x° -5

2f R Wl 2isyell qad [@éy 5. dlof(1)
A4 €l ol

.2\5

"r,ﬁ
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40503626731. 4

22

Let f(x)=(2x2=9x+ 11)e*, — < x < o,
Then fhas :

a local maxima at x = % and a local

minima at x=2.

a local minima at x = % and a local

maxima atx =2.

neither a local maxima nor a local

1
minima at X = —.

Z

neither a local maxima nor a local

minima at x=2.
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Correct Marks : 4 Wrong Marks : 1
M f(x) = (22 —9x+11)et, — w<x < ¥,
ﬁI_,F =l :

x= % F oY SfEe ¥ =2
s T e #

x = %Wmﬁaﬁmﬁﬁa%ampz
U =M 3=

g %Hﬁwwﬁaﬁ%%ﬁﬁmﬁh

et 2

x=2 7 9 =AY =S g 1 8 =Y
ety 2

ARl f(x)=@2x2—9% +11)e¥ —®w<x< ®
dl fe :
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x = % DR, YA HETH 2 x=2

AN 22UAY At .

40503626733

nr ﬂ

% il Rl Y™ o x=2
2 22 HegTH B,

o ”
= WP 2l ety weL el 5
22l ~qetctd el 2l

x=2 2o Al Hedd ve 8l 5
il ety wet 2l

If forx>0,
e"'gsin(% }"‘EW N
J X e ]
J. = dx =e""-f(x) +C

where C is a constant of integration, then
f(x)is equal to:

i,_ cosx

2
www.FirstRanker.com
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242

—— sinyx
40503626738.

.\E sin+/x
V2 cosvx

e x > 0F fow

e“Esin(E f J;ﬂ
I E / dx = eV f(x) + C.

el C Uk T 3T €, o f(x) TR 2 :

3
— cosx
J2

242

—— sginyx

2 sinyx
Panl
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Question Number : 10 Question Id : 4050367321 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

E;tx}{]fl{@:,
. = ’
eV* sin(i | \J{IW
/ dx =eV* fx) + C
'&E :
sedl C ol MsdA-dl A5 ¢y, dl
A= .
3
—CDS-\"’;
2
2.7
— SNy X
'wﬁ sin/x
\'IIECDS‘\J'I';

www.FirstRanker.com



:l », FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

sinx sin/0
d0, then
jﬂglﬁ 1+ coqzv'f_

fmy.
u 1 is equal to:

S

w3

2 . . \.’ﬁ
g SIMNX SIn E
afr yo= [, ST 2, A
) “2,»'{;, 1+ cos>0
(T
y[z] T
O
3.2
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E
6
il
3

W yw= [,

N

w9

sinx sin/
R dt
e 1+ cos \."'ﬁ

www.FirstRanker.com
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Question Number : 12 Question Id : 4050367323 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the region

{(x, y)eR?: 2x| +|y|=2 and x +y=1} is

l
3

WM

I\.J||—"

Wl |

23 {(x, y)eR? : x|+ |y|<2 M x +y=1}
SSFel (=7 SHsdi W) ©

l
3
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W|N

40503626746.

N||—i'

Wl |

UEel {(x, y)eR2 : 2] +ly|=2 2 x +y =1} 4

slatsu (AL =is3) IO
1
2
3
1
2
4
3
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Question Number : 13 Question Id : 4050367324 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let ABC be a triangle such that the vertex
A has coordinates (—3, 1). If the equation
of the median through B be 2x+y—3=0
and the equation of the bisector of angle C
be 7x —4y—1=0, then the equation of the
line BC is :

THT ABC U 9w  forme vid A F fdwis
(-3, 1) &1 afe B 9 @it 7 wifemsm =
THIHET 2x+y—3=0F 91 H C F
TOfGHSF H THE 7x—4y—1=0 T, ™
@1 BC ol HHEAW €

4= [
101 'I'H'—C-"U
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40503626750, X ~Y=7
18x—y=49

/x—=3y=6

airls Bsiel ABCH [RIRUGIE A AL (-3, 1)
5. o B el i adl wesud wilszel
2x+y—3 =0 & 2 WU C AL 5181 [gMlars <
{530l Tx—4y—1=0 €1, dl vl BC 4
walsael 2L,

15x+y=>50

dx—y=7

18x—y=49

7x—=3y=6

www.FirstRanker.com
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If the ellipse centered at the origin has a
focus at (0, 3) and the corresponding
directrix is y=9, then which one of the
following is not true for this ellipse ?

Length of its minor axis is '5\5
Length of its latus rectum is .4‘@
Point {J{: , 243 } lies on it

Point {\f{ﬁ_ , =32 ] lies on it

afe wF g, Tows &= 9o fag W E, #
T A (0, 3) W E T4 W FEa y =9 8, a1

39 <9 F o e § 9 w0 W v a4
27
THE oY A9 F TEE 6.7 €

ST e S w1 o 443 B
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fag (V6, 243 ) zm w frorm 2

40503626755.

fa'g{ﬁ'f_i, 332 ) 5o o feer 1

o Guae 5o Gorleg €, ol Al (0, 3)
U2 €4 2t ool 23 [Feubist y=9 €, ol 2
Guaay W2 ld-iel 54 e «4l?

el IeL 2iEl detd 6,7 B.
artl Aol doty 43 .
Big (v6, 23) drtw 213 B.

Big (V6, — 3v2) 3w =udg 8.
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If a hyperbola has length of its transverse

axis-z 2 and it has the same foci as thatof
the ellipse, 4x2 4 3y2=24, then this
hyperbola also passes through the point

whose coordinates are :

pr g

a3

—_—

ch|'—‘
=

R o

Afe TF ATRIE & A0 A Fl T
V2 ¥ qur sus el 9@ # W e
422+ 3y2="24 = &, 1 7% Afawaed 34 fag
T +ff 2t o &, foas e €
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40503626757.

od 215 2A[daaunl Yoo 2 Al dowd = 5 2
dedl A=l du Guady 4x243y2=24
AlGA 2 €14, Al 240 2ildaey

o (S il wel yuir 29l

o5 3)

o3

www.FirstRanker.com
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& =
=
| TR )

40503626759. [

pr——
&=
|35

| —

Let P be the point of intersection of the
plane, 4x—6y+14z=>57 with the line
joining the points A(2, 3, 5) and B(1, —1,4).
If BP=AAP, then the value of A is :

i

00| et
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AT HHAA 4x — 6y +14z=57 F1 Tag30
A(2,3,5) 9= B(1, —1, 4) =1 & =ret
4 wfawed fag P21 afe BP=AAP, @1 A I
1=IFI%:

WO | =

0 |t

AIRLS P24 Yudd 4y — 6y + 14z =57 24 [Gig21l

A(2,3,5) AL B(1, — 1, 4) 4 sds-l 2w 4 88

(G . ot BP=AAP ¢l%, dl Al Bud
2L,

i
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00| et

40503626763. *

A six faced biased dice is so loaded that in
any of its toss getting any of even scores is
equally likely and the probability of getting
an even score is three times the probability
of getting an odd score. This dice is tossed
repeatedly until a six is obtained. If X
denotes the number of tosses required, then
PX<4)is:

397

12y
www.FirstRanker.com
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Question Number : 17 Question Id : 4050367328 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T AR Thed I 9 YR H TR
A ThHl 21 | T ! of 99 9= 1 A
THAAF (equally likely) ¥ 791 59 T HH
T % A F] WAl faus SEA F S
ifahal @ 9 T ¥ TH UH H 99 qF
IS A & T qF o U B: -1 9T &l o1 |
Afg X, 9 1 IV Fl SEIH G&AT HI
T &, A P(X <4) ¥

19
33

397
(1 213
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Correct Marks : 4 Wrong Marks : 1

89 Cllg2il UL HHAA A €ld ddl 245 W
wel A dxR sl 2l © 5 ol a-L st
el el 58 el 3 yRens o d wxzieusl]
B, el dell 42 424 uzens 1ol d-l HeudH =1
Al Yr 25 reus 1ol el Housdl s2 3
el 4y 8. sl Hell 64 WLl el W
Gl »ud . o4 X 24 vl GesrllAl 2qvan
sallel, dl P(X < 4)=

19
33

37
43

61
4_3

397
(12)*

If 2sinx —cos2x=1, then :
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s -
40503626769, 05 X —cos’x =3~ 5
2(cos*x —cosZx)= -1

sin” x si_n?‘x=2 «J'g

2(sintx —sin%x) =1

AqfE 2siny — cos2x=1 &, T :
cos™ x cnszx =3 Jg
2(costy — cos?x)= —1

sin” x si_nzx=2 «J'g

2(sin*x —sin’x) =1

- "\._ "\'
& JSINY —CO82T= I &, ol .
www.FirstRanker.com
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Options :

L -
40503626769, ©OF ¥ —cos’x=3—15

2(cos’x —cosZx)= -1

sin” x si_nzx=2 v'g

2(sin*x —sin%x) =1

— = =
Let a, b, ¢ be any three non-coplanar

vectors. If the points

A[ 2% ¥3b 4 5?],

B[: L 9T 4 3z]mc[ﬁ hz] e

collinear, then A is equal to :

www.FirstRanker.com
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40503626776, 2

HTET : _I:: ? aﬁg A9 AT (non-
coplanar) dfger 1 gfs  fag

Al-22 +3b +5?]r

Bla £20 }3?]3941(:[?? h?]

g g, @l A FE
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L3 a, b, ¢ 3 ael Buudad uk 8.

-

o (gl A[ ia FIhA 5?}:

B[E +2b rS?J | C[?; h?}

MU, S, ol A Al Bud 2.

Which one of the following is a tautology ?
~(p—=q —q
AP gl <> g

~(p—>q op
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40503626780, ~ P 7 A 7P
=1 § 9 FF i U e ©
~ (=9 =g

~(P-q e ~q
~P—2qQ <P

~P2qQ—p

Azl 4 Fedcy 7
~ (=9 =g
~(P—>q e ~q

~Pp—=>q < p
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40503626780, ~ @ 7 D 7P

If the sum of all possible 4 digit numbers
formed using digits 1, 2, 3, 4 without
repetition, is 1111k, then k is equal to

5t0 5.002

Question Number : 21 Question Id : 4050367332 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

7t i 1, 2, 3, 4 T TIFT FLh, Al i T
Y, FA T G TS 4 351 I GEmet
1 ATHRA 1111k 8, 91 k =aEt 8 |
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Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 21 Question Id : 4050367332 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

sl YRl PR 2isl 1, 2, 3, 4 -l Guaioel
Gectl 4 2isil oitlley 2154 vl M=l
1111k €4, dl k=

5 to0 5.002

Question Number : 22 Question Id : 4050367333 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If x=cosech—sinf and y =cosec0 —sin>0,
3 2

w ' v (dy) 2
0<b<—, t x? +4 [— 25

> y(aig ) ( i : de i

is equal to

510 5.002 www.FirstRanker.com



:l » FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com
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Correct Marks : 4 Wrong Marks : 0

TS x =cosech — sind ATy =cosec®) —sin6,

. T s ) dyz >
D<h< — a (x% +4 {—W 25
2 g, ( # | dx Y

TMRE

5 to 5.002

Question Number : 22 Question Id : 4050367333 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

s x =cosech — sinf il y=cosecd — sin’0,

ﬂ{ﬂ-:%ém,ﬂ

(xz | 4} [iﬂ
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Question Number : 23 Question Id : 4050367334 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let the function 'f:hl — R satisfy
flx+y)=f(x)f(y) forall x,ye Nand f(1)=2.

50
i X f(4+0)=22"-1), then A+ is

equal o

5t05.002

Question Number : 23 Question Id : 4050367334 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

M %eA f:N — R, A x,y e N & forw
fex+y) =f)fy) 1 T A T A1 f(1) =2

50
71 afE 121'”4 FK) = A2P-1) & @A +p
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Question Number : 23 Question Id : 4050367334 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

QLS [El_i\lit'f ‘N — R 2| 635 x, yeN Y
St y)=f)yf(y) 4 ¥Huan 53 8 @i f(1) =2,

.2 B & ﬂ
5 El.ﬂiﬂx FK) = M2"-1) @iy, dl A+p=

5t05.002

Question Number : 24 Question Id : 4050367335 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let the circle, (x—a)*+ (y —b)?>=8 and the
parabola, y2=41' have a common tangent
at the point P(1, 2). If C is the centre of the
circle and S is the focus of the parabola, then

the area (in sqg. units) of ACPS is equal to

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Text Areas : PlainText
Possible Answers :
5 to 5.002

Question Number : 24 Question Id : 4050367335 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

HA 94, (x—a)?+ (y—b)2=8 41 TaFad
y2=4x F Ta5 P(1, 2) W TH I9AFS 09
@ 1 Al 99 H F% C ¥ a9 Waed Hi
IS &, 9 ACPS =1 & (a7 sahrsail H)
TERE |
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Question Number : 24 Question Id : 4050367335 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

aRls 4da (x—a)®+ (y — b2 =8, (b > 0) 21

Yreey 2 =4dx A [G5 P(1, 2) 2a0100 M1 2yals

9. oA C 2l dquid 55 €l 24 S 2l waauHl

AUS €4, dl ACPS < #aso (Al »isyul)
Sl
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Question Number : 25 Question Id : 4050367336 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If y=y(x) is a solution of the differential

equation, x% = (2 —3xy), x > 0 with

i
y(1)=1, then y[;] is equal to

5 to0 5.002

Question Number : 25 Question Id : 4050367336 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ffe AT THIEH xj—y = y(2 —3xy), x>0
E

foages fem y(1)=1%, =1 @ y=y(x) T, ™

y[ﬂ T T |
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sd y=yx) A [Asa  wlsa

x% = y(2-3xy), x > 0 Al Gid &, el
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Aptitude Test
Section Id : 405036259
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group Al Questions : YEsS
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Question Number : 26 Question Id : 4050367337 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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Question Number : 26 Question Id : 4050367337 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer [ igures.
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the

answer [ igures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

\HH --.-'.-'"-'F:-"
e
-
]

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

3 -D Y9 A | UF 95 F UF ov4 F1 femmn o &1 % 7 foon ¥ S 2y, T I g9 =
I SAHE H | TEEd |

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

3 - D U 25l 51 215 g 2 Al B, dlzAl Bl sadl, waq 202 294 srset 2aglaimisl il

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Which one of the answer [ igures is the correct mirror image of the P roblem [ igure with respect
toX-X?
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Which one of the answer figures is the correct mirror image of the problem figure with respect
o X-X7
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Which one of the answer figures is the correct mirror image of the problem figure with respect
o X-X7
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Which one of the answer figures is the correct mirror image of the problem figure with respect

toX-X7?
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Which one of the answer [ igures is the correct mirror ima ge of the prnhlem [ igure with respect
toX-X?
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Find the odd figure out of the problem figures given below.
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Question Number : 47 Question Id : 4050367358 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Find the odd f igure out of the prr}blem figures given below.
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+-F

www.FirstRanker.com

www.FirstRanker.com

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

40503626881.

= <1 T 9 AfoEl | | A aea vente |

b

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 49 Question Id : 4050367360 Question Type : MCQ Option Shuffling : Yes Display Que
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Find the odd figure out of the problem figures given below.
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The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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Question Number : 52 Question Id : 4050367363 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
w2l seclls i Gwl 24 (top view) “dldstidl #uey &, dlzel Eusl sddi, seuet
wiglaziHiEl wiq 42 Gertd £24 (elevation) “AlIvil.
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Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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Correct Marks : 4 Wrong Marks : 1
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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Which one of the answer figure will cc-mplete the sequence of the three prr:uhlem b igures ?
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Which one of the answer figure will cr:umplete the sequence of the three prc-blem figures ?
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40503626913,V
Which one of the answer figure will complete the sequence of the three problem figures ?
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Which one of the answer figu re will cnmplete the sequence of the three prnhlem figures ?
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Question Number : 59 Question Id : 4050367370 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the answer figure will complete the sequence of the three problem figures ?
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40503626922.
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40503626924. —

10 Downing Street is the residence of which
one of the following ?

President of America
Prime Minister of England

President of France

President of Sri Lanka
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In the Northern I—Iem_isphere the winter sun

sets in which one of the following
directions ?

North East
MNorth West
South East

South West

I Meny ® \fedl & g4 fefataa 5§ 9
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Question Number : 62 Question Id : 4050367373 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Gl sleuedul Biawoul 1 izl 58 B
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The famous Badrinath temple is located in
which one of the following States ?

Kerala
Tamil Nadu

Assam

Uttarakhand
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Question Number : 63 Question Id : 4050367374 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 64 Question Id : 4050367375 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the thickness of a one brick thick

wall ?
45"
g
1357

¥

45"
-
13.5"

¥
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Question Number : 64 Question Id : 4050367375 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
w5 e sél el sasd Seell i)
4.5"
g
135"

7.5

Why is the depth of a beam normally more
than its width ?

Horizontal Force
Momentum
Moment of Inertia

Balance
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Question Number : 65 Question Id : 4050367376 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TS =19 &I TS 9 9 9 39H1 =92t o
Fferer =i & 2

ifest =

245 efly (beam) Al Gl s Fld el weloud
53cll SR 5H €M )

glldsy o (Horizontal Force)

P4 (Momentum)

syseetdl A5 AL (Moment of Inertia)
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ddq4-t (Balance)
40503626945.

Where is the famous Notre Dame Cathedral
which caught fire recently located ?

Paris
I-Iag ue
Venice

Rome

yfag e =9 Fdga Fal ¢ foud e & §
AT TR oY 7
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40503626949, 11
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The concept of CharBagh garden found in
which one of the following garden

concepts ?

Christian
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Zen
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40503626951. Al

gyl

2 (Zen)

Where is the Bara Imambara located ?
Kolkata
Mumbai
Hyderabad

Lucknow
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621 SHHAIRL (Bara Imambara) s34 2494 6
55l
foie
SEUCAIE

AuAG

Which one of the colors reflects the

maximum light ?

Red

Green )
www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

40503626960, YVhite

Black
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40503626960, =F

510U

Which one of the fn]lc-wing colors denotes
equa_ljt}r 7

White
Blue
Indigo

Red

e W @ #9141 IHE g & ?
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40503626964. :

e

AlAMIAL 241 3910 HHiAAL g2 57
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Which one of the [ r:-]]::-wing describes the

texture of a hand made brick ?
Smooth

G lDSS}’
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40503626968, Rough

Silky
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40503626968, T3

Sa0dl

What are shafts used for in buildings ?
Beauty
Concealing pipes
Structural streng th

Stability
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40503626972, TTATIHS afeFd

gAML 2152 (shaft) AL GulaL 2L 32 53
e 857
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Which one of the fD]lDwing is the most

suitable material for toilet [loors 7

Polished granite
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40503626975, [Non skid tiles

Wood

Carpet

=1 i 9 %19 W 9=eE F w9 % fau g=m
UG W & 2

UL G

M Tere 2Eed

ofsh=l

A

Al2iArisl 541 ugel Bodl eliudloe we sl
Y, 250 )

Yzl 539 UALE2
www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

10503626075, et €l adll 2 (Non skid tiles)

s

suedl=ll (Carpet)

Who amongst the following designed
Indian Institute of Management ?

Charles Correa
B.V. Doshi

Louis Kahn

A P. Kanvinde

frafafas § 9 f5ae 9Rd g=69 9= #5
T faa an ?
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Ul Fifag
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w0 silds

Who amongst the following designed The

Fa]]j_ng Waters ?
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Options :

40503626982, Frank Ghery

Zaha Hadid
MNorman Foster

Frank Lloyd Wright
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sidby dlzdd (falling Waters) «(l 221 (design)
Azl siel 5307
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In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using only
rectangles. There is no restriction to
numbers, sizes, placement and directions
of these shapes. Color this composition so
that it becomes visually exciting.

39 W & I & ol eM &1 TS e H,
Sl 1 ST FF 56 B[ & T SugeE
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L 2sRIHL v, 52, dtisaell v B w
sl walgl A2l 20 Rl 3o Yl s el d
seellHl AU QBL.
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Draw from imagination a highway on
which cars and trucks are moving in both
directions.

OR

Draw from imagimtinn an interior of

cinema hall.
OR

Draw from memory your best teachers face.

Foqq J TF TH0 &1 =99 798 fg | ar
AR 2z o1 femedi § 21 =% @ g
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